Dezember 2, 17392 WOCOMAL VARSITY MEET

ROUNS I: Avrithmetic — pe-cent, Iinterest, discount, fractions
and decimals

ALL ANEWERS MUST BE IN SIVPLEST EXACT FORM

I, When Bea's bank pard (af% annual nterest, how much nterest did
THHO  earn for half a yer?
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3 Ina certain scheol the ratio of beys to Gils s 3:2,
I‘( {0 076 u7£\ ?L/)c’ Aé’jj’ and 30 70 ng ILA@ 9(\,45 fﬂC’&i/( Cut ﬁ,.
[vach, whal “Jo of the studeals do net speak cot for (vnch ?

ANSWERT
(1 pt) 1. i

Millbury, St.John’s, Worces' e~ Academy
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December 2, 1992 WOCOMAL VARSITY MeET
ROUND II: Set theory and loglc

ALL ANSWERS MUST BE IN SIMPLEST EXACT FORM

[ 9 “ Cither an X or an O s fo be put in each empty Square
o te Fril the 3‘r1c/ o Che [cdt. [f cach row column
” o and g]faguna/ Csatatning three Squares must Centarn at (cast

one X and af least one O what 15 the tobel number of
additienal X's  that must be used to full the grid ?

2. n a sample of 130 pegple (19 said flat they had scen fhe modie

of

Star Wars " and (10 said Thal %<7 had seen " Retven of Hhe Jedi

Thi~teen //)éd/J/c /ﬁm{ net Seen either movie. How Many of He

SL‘!M/)}e /)aa( secn heth ma\;/‘c/f.?

3 A /)asf ﬂ][7[5<'6 had ¢oly 3¢ and édq Sfélmps‘. Froa the sSun, sn Cents

(,"{ fﬁc ;f}}'ejéur (Xt’no'ulr')/'f /7[ [)Ds-fa?e- _](‘(—6'7?‘\ {d ﬁ,"ogj/,‘ $/'dd /‘f)C/Uf/.V@ ﬁ/f

Which an (fem  covid not be Sz"dmpco/ Wi th ¢xact pestage Using /n/y
34 and B d sfamps

(3 pts) 3. ¢

Hudson, St.Jjolin’s, Shepherd HIL1



Jdecember 2, 1997 WOCUMAL VARSITY MEET
tOUND ITI: Almebra 1 ~ open

ALL ANSWERS MUST BE IN STVPLEST EXAIT FORM

n
Fo0E % vs 3 fess then 5, Opress non lerms of x

2 A Weman b(v'(/hlL Seme /o/akj at a yard sSale Two ‘H’x/.“(/j of IL/;Cf’m
Were  cracked | hatt of them were c/u‘fped) and  ope fouith were

beth (racked sod chipped.  All bot two of the plates were either

Cracked cr ch,ppcd or both, How many /)/az"CJ did <he b‘f"j?

3 {‘F —-————-_57(’//——— = A - - . l 1(‘ A
2x2+)(‘(> x+2 2x-3 ) 10l .
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Hromfield, Burncoat, Tan“ aay n



December 7, 1997

+OCOMAL VARSITY MEET
ROTJND IV: Sequencss ani seriea

ALL ANSWExS MUST BE IN SIMPLEST EXACT FORM

I. A six fterm arithmetic Scgucnce  starts w ith |5 and ends

with 50, Find the thira term

2. Find ¢ (f OZO C(%—)n = 24

3 A sel of nested squares is drawn jnside a squace of edge
| vat.  The corners of the next Square are  the m;dpo/m‘f of
the sides of He /Opeccdmy squarc.  Find the Sum of the arcas
of fﬁc ‘F/rﬂ‘ nine s¢uarcs Xfamlmcj w, Th the ij[ Square

ANSWERS
(1 pt) 1.

(2pts) 2. c-=

(R pt=) 3.

Doaherty. Shepherd Hill, Tah

araito



December 2, 1992 WOCOMAL VARSITY MEET
ROUND V: Matrix and determinant operat ions

ALL ANSWERS MUST BE IN SIMPLEST EXAZT FORM

[ Evaluate r,/ 5
2 -3 L(] 36
| =2
_ J

2 [n the matrx equatien 3 5 0
e

the element in the Ind cee (st col umn of X ;s (O and  The element
0 the Ao rew  2ad cofymn af}( /s —8 Delemuan c,jmlo/g!c/j

3 F;nd a value of X Such ZLMZL +he a’c/frm/nanf

X +3 [ -2
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De ~e mber 2, 1932 WOCOMAL VARSITY MERT

CLAV ™Mo Too*ces of previous rounas and open

ALL ANSJLRS VUST BE IN SIMPLES™ EXACT FORM A,
AND ON THT SDPARATE TEAM ANSVER SHRET 2 poir*s each

A 2007 price uncrease s the same as a 507 price inérease folfewed 57

(A e /)cme INnereasc

oz 7")( SC;)()(‘/ [7((/7(( fms 100 [@mﬁ/af é(/)(j XO MQ/C’S'.

The orchestra has £0 Lewmales
and 1CC males

Of the members 10 beth grevps 60 are Females Mg tfer

23U tuderts arc ip cther e A in 6uz% Héu/ m/mj malcs qre in the

hand and net i the “rche st 4
3 SulVe and rowad  yeor Govec- 1 the nearest hundredth
52%x - % = J47x — 2¢.3
H, The Scqoepce )572) 2 d(’f//)é(/ /)7 Ap (3 7%5 Jni s L/,9,2* d}’ﬂ [%c’

sun o F the first o pusifve integars (6, =1) Find the sun of He
E'IJ% [000 tcrms 4/[ ZL/HS Scqucnce
3 3 ﬂ K
I

5 Sclve Hfor matriv X ) 7 i
=

H
¢ /n avdience 1 540 peepic 15 seated i vw., with The Same Nimber
ol ,)wp}k N edch rew

3
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/} l,l/'f.t,![/ %4/(& (Q ;q_wa— Few [—{L 3 Mure /)Cdln/L

Wcere oea fed each row /h /‘0“4 /Ymny TewSs o 7%(./ :)C’allfd’ 7

- 2
7 How many 1/ M4 would therc bhe in e expan:/z'm ﬂﬁ “LHB/?-) L(h‘ﬂiy] ?

; A burean drawes Ldﬁ'}’a/lb |0 é)[‘é’wn seeks apd ¥ gray soeles well mred
A r“an (j[lcj '/D YIA)I_',' C’f[“&‘q 1#1 fﬁ(i ({Cx"/\’ (M(/ %[(k{j é}l./ '2 SdC/() u/l/\qf
1< {he prcbgc\(o/ln‘c] Het f/u:7 will be He same color ! EXprfsr Yo

anSwes gy o reduced Frachdn

("\‘ ’)('J//'/\,L '\bmb(."‘ /s (JI\/’!C{CC/ {mj 5 [/’))]L(((d oF ECII)7 VYH)[*?'D//(.(/ [)7 Yy

Frod /'ﬁc PL. Cent crrel !msa{ on f/fe correct answer

v 3 vy R, fig™ 2 1TV e Ite . $
aohaxr, Rromfiel 1, Burncos*, Do'erty, Hudsor, Milltary, Tartasqua



’DLCQW\-\W 2’ |4 Z

2CUND T / 7/t 55 TEAN LD
Q’,.,A,',\ s
| 2 I
ReuMn 7 / 2 5 /0
Sets. lag, . '
' Hda & 3 -357
R )
plg | ) on 2xts Yy 3500
24
3 3 4 -3
- - - 8 |
Rouvp I /. 29 P : —}
Sei)krl’% 2 8
Q56 254
ROUND W
Mafhiy; det / , [’7 /Jé] L 5
30 -7 | g 13
2 10 -% ’ /53
= 8_1
3 :52 R -4l oo -4 x5 T 6%



